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B X 2 =7 o 900 1,200 | 1,500 |3,300H
Jii % P M B AR VAR AR 900 900 1,200 |3,000H
B X 2 =T 600 900 1,200 |2,400H
Ji 5% e i A £ ) AZ Y AR 600H 600 600H 1,800MH
BEiXHIK T I 2 =T ¢ 900H 1,200 |1,500M |3,300M
it 53¢ SRR AR W A2 L B 600 600 600 1, 800H
BEiXHIK T 2 =T ¢ 600H 900 M 1,200 |2,400H
it B B AT AR V) AR A 600 600H 600 1,800
B I 2 =T 900 1,200 | 1,500 |3,300H
it % T 7K T AR W A 900 900 1,200 |3,000H
B X 2 =7 o 900 1,200 | 1,500 |3,300H
FiRx B L D & EEEV AR 900H 900H 1,200 | 3,000
B A X 2 =7 o 600 900 1,200 |2,400H
% R 7S [ £ O A2 A 900H 900H 1,200 |3,000H
B X 2 =7 900 1,200 | 1,500 |3,300H




Ji R AT DD B ERNAZIRAR | Fi 900 900 1,200/ | 3,000
B X T X 2 =T | R 9004 1,200/ | 1,500 |3,300M4
il B = FH AR W A2 B e 900H 900H 1,200 | 3,000
B X 2 X 2 =T | AR 9004 1,200 |1,500H |3,300M4
fi 5% s B O A2 Fneg 9004 9004 1,200 |3,000M
Bk I 2 =7 ¢ | DE=E 900 1,200/ | 1,500 |3,300M
fitl A B IR O A2 i Fn= 900 900H 1,200 |3,000MH
BRI 2 =T 0 | D= 2,400 | 2,700 |3,300M |6,900M
fiiix & < & HHEWASRAE | fineE 600 600 600 1, 800
BiXHE I 2 =T ¢ | KESE=E 6004 9004 1,200 |2,400M
Ji 7% b R AR L A N 6004 9004 1,200 |2,400M
Fne 600 600 600 1,800
B X 2 X 2 =T | R 9004 1,200/ | 1,500 |3,300M4
i 7% P R A2 B fne 600 600 600 1,800
BMiXHIE D 2 =T ¢ | KE#ES 9004 1,200/ |1,500H |3,300M4
JRE DD DI WA | N E 600 900H 1,200 | 2,400
= 600 M 600 M 600 M 1, 800
% HEHEN 1EOERKER B2 CTERT 2546, BBrRER 305 12> & BUE# A

Bto 2 8l BN 5, 2720, FATE FRNBITR ERMZSI SRS ENT 25

B O EFEIIZ W T,

ZDORY Thu,

3 BfiXHEa I 2 =T ¢ M ek AT
i X 53 SRl 1% 7 [ 4 H

RO W | MR 1 RE | PR 6 B | R RET 9 B

4 R DB IEF | InB R | bR | 0D T
ENE S5HEE T | 9L T | 9BET

B T X 2 =7 ¢ | KIAMH 9004 9004 1,200/ |3,000M

i % Y 1) REL U A2 i B fnes 600 600 600 1, 800

B T X 2 =7 ¢ | KIS 9004 9004 1,200 |3,000M
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it 5 R /N RO A i A Fneg 30014 300/ 300/ 600H

B X 2 X 2 =7 ¢ | KIAMH 9004 9004 1,200 |3,000M
fl B R RO A2 A e 30014 300/ 300M4 600H

B X 2 X 2 =7 ¢ | KA 9004 9004 1,200 |3,000M
it % 8% VL R A2 B PR 600 900H 1,200 |2,400H
BHiXMIK T I 2 =T ¢ | KA 900 900 1,200 |3,000H
it % 28 SR A2 A ES 600 600 600 1, 800
BHiXMIK T I 2 =T ¢ | KA 900 900 1,200 |3,000H
it % 3 T A2 A Fn= 6004 6004 6004 1,800
B o 2 =7 ¢ | KIS 9004 9004 1,200 |3,000M
T 5 o I A W e 600 900 1,200/ | 2,400
B X 2 X 2 =7 ¢ | KIAMH 9004 9004 1,200 |3,000M
il 7% Bl A TR W A Fn= 900 900 1,200/ |3,000MH
B X 2 X 2 =7 ¢ | KIAMH 9004 9004 1,200 |3,000M
T 3 N T v W ] e 600 600 600 1,800
B X 2 X 2 =7 ¢ | KA 9004 9004 1,200 |3,000M
% P RO AR AR | FnEs 600 600 600 1, 800
BHiXMIK T I 2 =T ¢ | KA 900 900 1,200 |3,000H
it % /)N 7 RO A2 B Fn= 300 300 300 600H

BHiXMIK T I 2 =T ¢ | KA 900 900 1,200 |3,000H
Jiti 5% 72 2 I FH O A8 i A fnes 600 600 600 1, 800
B T X 2 =7 ¢ | KIAMH 9004 9004 1,200/ |3,000M
i 7% 8T e R A2 B fnes 600 600 600 1, 800
B X 2 X 2 =7 ¢ | KIAMH 9004 9004 1,200 |3,000M
it % 7 B R A2 A fne 900 900 1,200/ | 3,000
B X 2 X 2 =7 ¢ | KIAMH 9004 9004 1,200 |3,000M
it % BB R A2 B fneE 600 600 600 1,800
B X 2 X 2 =7 ¢ | KA 9004 9004 1,200 |3,000M
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T e T W ] A 600 600 600 1, 800
B X 2 X 2 =7 ¢ | KIAMH 9004 9004 1,200 |3,000M
it % D i RE O A2 S B e 600 600 600 1,800
B X 2 X 2 =7 ¢ | KA 9004 9004 1,200 |3,000M
il B% 7K T R A2 B e 30014 300/ 30014 600H

%2 BHA—L | 600H 900H 1,200/ | 2,400H
% HEHEN 1EOFERKER B2 CTERT2560%. BBRER 305 12> & BUE# A

Bho 2 B2 BB T 5, 72770, FRIEFHBEXITFHR EEMEZ5I 2 FEHT 55
B O EFEIIC W T,
4 B =

ZDORY Thu,

2 =7 A Mk O A i i
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it H X 5 T 1% & Tl 2 H
RO W | PR 1 RE | P 6 | Rl 9 I
4 B MO IEF | DO F®% | D% | 6T #%
EEQ SIKFET | 9KET | 9FFE T
BRI R 2= | AR Y= 2,700 | 3,900 |5,400/ |9,900H
T AR N E O | H A 1,500 | 1,800 |2,400M |5, 100
22 it B S 900 900 1,200/ | 3,000
[ = 1,500 | 1,800 |2,400M |5, 100
i (L x 95) [600H 900 1,200/ |2,400M
s (7 &) 600H 900H 1,200 |2,400H
b 520 = 900 900 1,200/ |3,000M
X o R 2= | AR YR 2,700 |3,900M |5,400/ |9,900H
TR BAETOR | B EEE 3,000 [3,300M |4,200M |9,000MH
it i - S =y 900 1 900H 1,200 |3,000MH
oS 900 900 1,200/ |3,000M
IS 900 900 1,200/ |3,000H
BAE T = 3,000 | 3,300 |4,200M [9,000H
= (Lxo95) |600H 900 M 1,200/ |2,400M




s (R E) 600 900 1,200 |2,400M
BE PR 5 5 1,500 | 1,800 |[2,400M |5,100M
EMiX#E I 2= | Ly Yo — g9 5,700 7,500 [9,900 |18,900H
T4 MR KL O | AL
it i H—Ea= 900 900 1,200 |3,000H
s E 900H 900H 1,200 |3,000H
oS 1,500 | 1,800M |2,400H |5, 100H
IS = 1,200
AT R == 3,000 |3,300[9 |4,200H |9,000MH
AIE= 3,000 |3,300M |4,200H [9,000M4
fn= (L Xx 95) |600M 900 1,200 |2,400H
s (X&) 600 M 900 M 1,200 |2,400H
= (2<B) 1,200
= (k) 1,200H
s (1) 1,200H
= (H) 1,200
= (F) 1,200
NN 8, 400
BF B 52 E = 1,500 | 1,800 |2,400/M |5, 100
T 4, 200
Bifixial o= |27V x=—2 32 (2,700H [3,900H |5,400 9,900
T A RN TR | A=
it B [ 900 900 1,200 |3,000M
S 3,000 |3,300M |4,200H [9,000M4
[ 900 900 1,200 |3,000H
B4 5 = 3,000 |3,300H |4,200H |9,000MH
AR == 3,000 |3,300H |4,200H |9,000MH
B HE R = 900 900 1,200 |3,000M
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(it
1

(
2

fnE (L x95) |600M 9001 1,200/ |2,400M
s (PR E) 6004 9004 1,200f9 | 2,400
fn=s (& <) 6001 9001 1,200/ |2,400H
= (< B) 6001 9001 1,200/ |2,400H
fn= (-5 L) 6001 9001 1,200/ |2,400H
NN 2,400 |2,400M |3,000M |6,600M
MR 2= 1,500 | 1,800 |2,400H |5, 100
s FEHFEN 1 EOMERRHZEZ TENT 2561, BlER305 125 & FEM M

Bt 2 B A2 BEEMNT 5, 70, FRitFBNITIF%EEKMEl s EFEHT S
WA OPRERBIZOWTIX, ZORYD THRU,

R
1T HIA)

ZOZERENE, FR24FE4 A1 B
TR 108 1)

WIE% ORIFRE 2 K OBIESE 3 OBREIT. FH24FE 4 A 1 HEUZLOHGEI
SOWTHEMH L. [FHABTOHRGEICRDEHICSW T,
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51T %,

RIS

RBUERIOFIC X D,




